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Djrections for the following- - (seven) jtem
s

Rﬁad the following fiye Passg

€e8 and answer
the items that fOllOW. Your

: answers to these
tes should be baseq on

the Passages only.

Passage—)

Private investment in gene

%& Foreign

Private investment is more volatile becauge the
available investment avenues gre signiﬁcantly
greater (i.e., the entire Wworld). Therefore, the
responsibility of providing employment cannot

be left to Foreign Direct Investment (FDI). The

current FDI inflows are volatile over time and

across sectors and regions, which is g
—_— e

Necessary consequence of their search for the

highest returns. The adverse consequences

unstable employment and an accentuati
income and regional inequalities. A proba

positive consequence of foreign investment. i

above passage, the
umptions have been made :

on foreign investment in
ong run is not an economically
sound policy. v

HGY-D-1xUV/50C

2. Policies must be-undertaken to
reduce volatility in foreign private
investment.

3. Policies must be undertaken to
strengthen domestic priva

investment. @

4. Public investment shou
priority over private inves

5. Substantial publi
education and h

investment

sho‘ be

ptions is/are

any opportunities to harness the highly
skewed, s€asonal é.nd spatial distribution of ‘
monsoon flows, which occur in a four-month
pemne to September annuaﬁt, have

been lost _Since these few months account for

most of the rainfall and consequent freshwater

availability, the need for holding rainwater in

reservoirs, for subsequently releasing it for use
CRETVOLTY

over the year, is a necessity nobody can afford

to overlook,) Climate change will continue
affect weather conditions and create w




2. With reference tq

the abgye as
which of the following could be the :noa;
rational and Practica p

fo'r—rﬁaia')\"‘ Hcations

1. Inter-linking of
undertaken,

2. A network of d

should be bujit across the country
for proper distribyti

ams and canalg

. 3. Farmers should be Provided easy
loans fordigging borewells.

Usage of water for agriculture
should be regulated by law.

Distribution of river water among
regions should be regulated by
Union Government, )O

Select the correct answer using the code
given below.

1 and 2
(b) 2 d>5
(c) 1 4
d) 2 5

People will invest
he eco

oI OF Watee, o =

<

edom rises. fWhen people,

ates, are allowed to retain
sher income t they gain from
each incremental level of education, it makes

eminent gence 1o invest in education.TOn the

HGY-D-1xyv/590

other hand, when the government e
tax the higher inco educated individuals
at even higher rates, it makes very little sense
to invest frreducating oneself quc
incentives apply to parents who dggCL'L,QILs.
whether to invest in their children’s education

3. With reference to the:above gass
following assumptions have be

1. Lower tax rates
invariably trans

Passage—4

Our urban bodies cannot possibly ensure
Sustainable delivery of water in our cities
unless financing mechanisms are put in place.
Water delivery requires heavy investment in
collecting it from a natural source, treating it
0_make it potable, and laying a distribution
network of pipes for delivery to the users. It also

requires investments in Sewerage infrastructure
and sewage treatment plants

so that the sewers.
can carry the wastewater

to these plants to
ensure that no untreated Sewage is discharged
\ /

¥

oL




bat:k into natural water bodies. )it _
Were rich enough to meet - f1 our cities

; € enty
Coulq be delivered free. They aIe1‘:=:mn.':tost, water

q. What is the most logical
and
message conveyed by the pass:gr:?cml

(@) Urban local bodies my
st rec
costs through user Chargeg :COver_

(p) Urban local bodies are not efﬁcient
enough to meet the

. water
requirements of our cities

(¢ Water shortage in our cities is a
perennial problem that cannot be
solved.

{(d In view of the water crisis in our
cities, there is an urgent need to
limit the population of cities by
adopting an upper limit of
population size.

5. With reference to the above passage,
following assumptions have been magd

1. Rich cities only can
sustainable delivery of water.
2. Sustainable delivery of water
cities means much m h
supplying water to ho
Which of the above assumpt
valid?
(a) 1 only
(b) 2 only
Both

(d) Neither 1 nor™

5

re still engages about half of
about 85 per cent of its farms
inal. Compared to China
and Vietnam, which have experienced fast
 structural and rural transformation, India’s

HGY-D-LKUV/50C

story is of slow transformation. As a result,
poverty reduction in India was at a much slower
pace during 1988-2014, compared to China
and Vietnamy India’s” poverty, reduction was —
slow during 1988-2005, buf during 2005-2012,
it acCelerated dramatica almost three—tise
faster than during the earlier period. What'did
India do during this period? Red@arch ‘feve
that™ the relative i ari
significantly
agriculture in the wake of risi

surplus of
2013-2014;

ce to-the above passage, the
g assumptions have been made :

#Structural and rural transforma-
tion is impossible when farms are

mainly small and marginal. >ﬂ

2. A good price incentive can trigger
investments in agriculture.

3. _India needs to build value chains
for high-value agri-products like
livestock and horticulture

4., Higher global prices of agricultural
commodities are essential for
India’s poverty reduction.

Which of the above assumptions are
valid?

(@) 1/::&/3
2 and 4

(c) | d 3‘

(@ 3 4

| P.T.O.
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7. Which one of the followip,
best reflects the criticq
the passage?

g statements
! message of

(@) ]r&d;a should create large-scale
ofi-farm  rurg] employment to

. reduce poverty in the near future.

) India should create a large number
of farmer producer companies.

Private investment in agriculture

~ should be given priority ov i
oty ty over public

(d) Inclusive agricultural growth is
key to reduce poverty in the near
future.

8. Two Statements S1 and S2 are given
below with regard to four numbers
7 P, O, R and S followed by a Question :

S1: R is greater than P as well as Q.
- S2:Sis not the largest one.
. Question : Q> P

&>
Among four numbers P, Q, Ra

alone is sufficient

i S2 together are not
nt to answer the Question.

17, A

h'ZL=84

9. Two Statements S1 and S2 are given

below followed by a Question :

S1:n is a prime number.

S2:n leaves a When
divided by 4.

Question :
If n is a unique na‘al mber
between 10 and 20, then at

Which one of the following is

respect of the above S

Question?

(a) S1 alone is suffi t to an*r the
Question.

(b) S2 alonefis swer the

estio

e Question.
S2 together are not
fficient to answer the Question.

tatements S1 and S2 are given
elow with regard to two numbers
followed by a Question :
S1 : Their product is 21.
S2 : Their sum is 10.
Question :
What are the two numbers?
Which one of the following is correct in
respect of the above Statements and the
Question?
(a) S1 alone is sufficient to answer the
Question.
(b) - S2 alone is sufficient to answer the
Question.
\Ml};g@'s‘zﬁtogethcr are sufficient to
answer the Question, but neither
ne nor S2 alone-is sufficient
wer the Question, |
'S2 ‘together ' are

A Xk = 24
ath =102

e e
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Direeuons for the !‘ollc,wnng 6 (six) it
ems ;

Read the following five Passages gong
an
the items that follow. Your answers to t;wer
items ghould be based on the pPassages o le“
nly,

Passage—1

In India, over the last decade or so, labour has
been departing agriculture, but is only going to
—_—
construction and unregistered manufacturing
which are not markedly better jobs. Services
where labour tends to be most productive, are
not generating the additional jobs the country
needs. India will need 24 million or so jobs over

the next decade. The new sector, e-commerce,
can at best close only half the jobs gap. Only
those sectors that drive domestic demand such
as health and education can comfortably fill
other half.

i

11. Which one of the following is

unregistered
to Dbe

has been reducing
blem of unemployment.

sed social sector spcndfng
imperative for Jarge-scale job

HGYD-Kuy/soc i

Passage—2

In India, the current focus on the right to

rent focus on the right to0
privacy is based on some new realities of the

digital age( A right is a substantive right o

about her

A Lol At
meaningless without actua

exploitation,

security that guarantees

cannot be used to thward

asis of the above passage, the
ng assumptions have been made :

should have some

institutions to ensure its

appropriate role in a digital society.

2. ‘State should ensure that private
parties do not violate the citizens’
right to privacy.

3. Digital economy is not compatible
with the idea of not violating the

citizens’ privacy.
Which of the above assumptions is/are
valid?

(a) 1and 2

’ (b) 3 only

[P.T.O.
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Passage—3

One of the biggest ironies around water is that

it comes from rivers and other wetlands. Yet it

1S seen as divorced from them. While water is

usei as a resource, public policy does not

always grasp that it is a part of the natural
€cosystem. Efforts at engineering water systems
are thus efforts at augmenting water supply
rather than strengthening the capacities of

to think of w

extremely volati ing. We also
dislike fluctuating returns and the loss of
control of investment. We think 01-‘__"_1“_22_63{.__—1-8——-

st Teft idle, unproductive but safe. There is

U

no asset that is risk-free. We could los

government can collapse and compa

can go bankrupt, our bonds can dé

ecological systems.
— e oL

13. Which one of the following is the most
logical and rational inference that
can be made from the above passage?

fa) Rivers and other wetlands should
be protected Ramsar

Convention. )0

(b) Engineering water systems sho
be modernized and

_ augmented. jﬂ
\/}/Wctlands néed to be reinforne
more than just open sg

water.

under

(d) Water supply should'mot be

cost so as to it isuse or

overuse.

most important
ever make, and
sion the

HGYPlkuy/sec 13

(a) Distribute your wealth across
different kinds of assets so that
your risks would be minimized. y

(b) Risk-taking behaviour should be

a necessary component of your

personality if you want to generate
wealth.

{c) While making investments, find a
trustworthy asset management
- organization which would manage

your wealth for you. >0

\/4)/ You should know
/"

" your money is 4

n\\\t'ﬁa.\\\kﬂ%ﬁt\‘b‘b\}kwmmmmm“\\\\\\\\\\\\\\\\\\\\\\\\\\\ e s i L O . A



Passage—5

Although most of the Geneticall
Crops cultivated now are genetically engineered

Ior a single trait, in future, crops genetically
engineered for more than one trait will be the
norm, Thus, biotechnology’s role in agriculture
and the regufation of the same cannot be
U_I‘ldi‘sﬁfmkly in the context of the current
Beneration of GM crops. Instead, there is a need
totake a comprehensive look, taking into account
varioys aspects, includin socio-economic
e potential of the technology
can be hnmcssed while minimizing negative
lﬁ_cmt the unportance of biotechnology
In dcvm varieties that can help in climate
itigation and adaptation, not using
biotechs y as a part of the climate change
plan cannot be an option. Domestic
regulatm f bﬁﬁ:echnologr cannot be viewed in
isolation of trade policy and obligations under
various international treaties and conventions.

15. With reference to the above passage,
following assumptions have been m

1. Biotechnology re la on is

‘evolving process.

2. Participation of people is

~ in policy decisions

ational hgauons
he above assumptions are

390 _.p,..,2°16 ‘?+2°17-r -2018=5+2019

16. Which one of the following statements
best implies the crux of the passage?
(a)mutmnary principle is not given

importance in currcnt_ debate on
developing GM crops.

(b) Biotechnology is not currently
in climate change
adaptation mechanisms.

,\_/(67/ Biotechnology’s role is not \
to the iori
developing GM

be a three-digit number, where
(X+Y+Z) is not a multiple of 3. Then

(XYZ +YZX + ZXY) is not divisible by
(@ 3 () 9
() 37 (@ (X+Y+2)

19. Let p,q,r and s be natural numbers
such that




,ﬁ‘,w‘,.‘zg

s
Y

<o

(I R

As

A man walks down the b iae

the right and walks 50 metreg ms‘tO
then he turns towards left ang agm?;
walks 25 metres. If his house fg 5
the East, what is his direction froccs .
starting point? m the

(a) South-East

(b) South-West

\/ North-East
g{( North-West

22. Two Statements are given followed by two
Conclusions :

Statements :

All numbers are divisible by 2.

Al numbers are divisible by
S
Conclusion-I : -

All numbers are divisible
Conclusion-II :
All numbers are d ib

Which of the abo

logically follow '
given Stateme
{¢#” Only Concl ,
) Only €onc ion-II
Neither Conclusion-1
Jusion-II
( ;
Both Conclusion-l

Conclusion-II

nor

and

HGY-DP-LKuv/s9C ¥

23. Two Statements are given followed b
Conclusions :

Statements :

All cats are dogs.
All cats are black.

Con;iuuion-l : ’
All dogs are black.>d

Conclusion-II :

Some dogs ar

Which of t b
logically

t black.

% Conclusions
from the
disregarding

nor

(d) Both Conclusion-] and

Conclusion-II

24. Consider the following sequence of

numbers :
2, 3

[ b =3
[51 4398502 6
563852243496

How many odd numbers are followed by
the odd number in the above sequence?
e ———————

(@ S

x/“"’/ 6
7
(d 8

[ P.T.O.
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f T '
A is 16th from the jepy end in a row of Let x, y be the volu , n be the

and Vis 1
boys 8th from the right end. masses of two metallic cubes

is 11th fi
:c:r:; ﬁ]-ox:\h vmm“:‘:r;ow.m. the right and respectively. Fach side of Q is two times
) boys are th 8 the right end, How "iml of I’ and mass of Jis two umc’ﬂml
many boy there in the row? of P. Let u=m/x and ven/y Which
(@ 10 one of the following is correct?
'\}’/ a1
a2 (a) v
(d) Cannot be determined due 1o {M /
insufficient data

26. Three Statements S1, S2 and S3 are
given below followed by a Question :

S1: Cis younger t D, but older than

A and B A_ 2 C“
bm:Dis the oldest: %

S3: A is older than B

Question :
Who among A, B, C and D is the
youngest?

Which one of the following is correc

Question?

fa) S1 alone is sufficient to answer t
Question.

fb) S1and S2 toge

d) 45
( i T4+ 31-60=9°9

fc) S2 and S3 tog o § : LT = lwo

e 30. A person bought a car and sold it for
# 3,00,600. If he incurred a loss of
20%, then how much did he spend to

" buy the car? 70
@HW e RN T = a6
(@) ¥ 3,60,000 .
not dj 5
(b) ©3.650000 .3~  S.P =3 o000
™ 1 @ eamo00 Gt
s do B2 3
@ 13 S 375,000 oo "

HGY-D-LKyy 7 19 -

)50 -] YL [P.T.O.
W&c >
$ Qv = 00w — 300000

7



2 P>
;Zy\Liém;PQL.+M:;mJ5 dr\EF\_.
2412 452 + 33+ = 155 °"

bo
31. In the sum O_rle_gggg,ﬁ_mm-from aM
Yo pages arec number d in the usual _—

\l t as 1.
| ®+10+50+®®+®1=108® ing from the first page
- maﬂlﬂﬂ_fﬂns bers on the
for which digit does th bol ® dr The sum of the num :
s . remaining pages is 195. The torn peg
confains which of the following
(a) 2
| numbers?
M > (@ 5,6 . °

@ 4 () 7,8

@ 5

f you have two_straight sticks of length
7-5 feet and 3-25 feet, what is the
minimum lengt.h can you measure?

0-05 foot e "? ' S
(b) 025 foot O TR <

(c) 1 foot
v@/- feet L [
P 1: il 2.4,(02_ /~-a, c,c, € o F e g 15

(d bycde

e, W) DG, Ve S e R e 1L i

number of the #
3 ﬂi-32' B et A3BC and DE2F be four-digit
ot o priiia Hutilicts N ‘numbers where each letter represents a
4% Dollowing is i the - different digit greater than 3. If the sum ;
P of the numbers is 15902, then what is ¢
i ; the difference between the values of
A and D?
(a) 1
(b) 2
) 3
L
4

/59C 21
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37. Two Statements S1 and §2

A

_are_given

n :

S1 : There are not more than two figures
On any page of g S1-page book.

S2 : There is at least one figure on every
page. \

Question :

below followed by a Questio

Are there more than 100 figures j
S 1n
that book? ) =
Which one of the following is correct in

respect of the above Statements and the
Question?

(@ Both S1 and S2 are sufficient to

answer the Question, but neither
S1 alone nor S2 alone is .sufficient
to answer the Question.

(b) S1 alone is sufficient to answer the
Question. : '

S1 and S2 together are not
sufficient to answer the Question.

(d) S2 alone is sufficient to answer
Question.

onsider the following data :

P £ ST

. 39. A family of two generations COP_B_i_sEE_g_g-—’

i P. ( has
six members P, Q, R, S, {‘_a/n’d U ha
three males and three females. There

are two married couples and two

unmarried siblings. U is P’s daughter

(@) R is U’s husban

(b)) Ris S’s

1

of the above

In a particular year 12th January is a

' Mﬁhex? which one of the following
_is'correct? & alae ity L

- fa) 15th July is a Sunday if the year is

- a leap year. -

(b) 15th July is a Sunday if the year is
not a leap year.

(c) 12th July is a Sunday if the year is
a leap year,

(d) 12th July is not a Sunday if the
year is a leap year.

[P.T.O.

and Q is R's mother-in-law. T i
unmarried male and S is imal ich
one of the following is correct?
' "f‘JAM“W';‘J“‘b" _
e Sl Ol i
7

N
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Directions for the followi
ng 6 (s
Read the following five pag 51k it - But certain renewable resources are still going
sages and answer through their cost curves and learning curves
¢ of output. The

the items that follow. You

- I ans :

tems should be ik Moy swers to these to get the required amoun ot 4o
passages only. Indian Government hwltw

its targets of reducing emissio 33
t has initiated

' Passage—1
_ by 2030, and towards this i
to th i '
i Bl:gk k(;:fdltlts dee:;dusmal sector has started ~Strong push towards a as-based ¢
;EJ' : iIne has been a seri has aldo invested heavily in renewable
as credit : ous. i i
concern owth is essential to revive
pr‘t' The problem’s origins lie in the too heavily in renewable energy at
complete_reforms of the last 25 years. An the technology s not yet ready’
mstitutlonal change that should have followed i
the 1991 reforms s ve been ing u
of a re__sao_lg_t}:_‘?_‘}_ corporation for banks. Ip a
market economy with booms and busts, banks
mouwﬁ_nowed to be set up and to fail.
we cannot shut down Danks because-

Today,
there is no_proper system to shut them down.

Weak loss-makin banks continue to need more
capital.

41. Which one of the following is the most

cal and rational inference thz

can be made from the above passé

{a) Indian banking system is f

to help the country in its ecor

\%

d put in more efforts in

) India shoul
-the exploration-of natural gas.

(b Economic reforms 43. With reference to the above ge, the
) - fpllowing assum tions have been made :
provide

1991 have not helped
1. Governments often

oS subsidies 1or

technologies that may not be ready
= e ———
in the near future. \

2. India’s commitment of reducing

emissions by 33% by 2030 shall be
on the basis of gas-based cconom:;/

our
0 ood alternative to this :
’slsdac; :dence on banks for Which of the above assumptions is/ |
valid? |
(@) 1 only |
2
ja] for solar only
energy. all realize that W€ have to stop (c) Both 1 and 2
burning fossil fuels to meet 04 energy needs. F#Neither 1 nor 2
'
25 J

HGY-D-LKUV/59C




Pﬂss&ge.__a

Genome editing_is different from ge
= nome

Thodification. Ge joalle |
finding the part Ofa.. plant Renome that ;DVOIVEB
mder 1t less vulnerable to ;.uld oe
of resistant to certain herbicj or to i e
yields. Researchers use ‘molecular scisgg;:?:
dissect the BENOME and repair jt, which is a
process that 0CCUTS naturally when plants
m‘m
new mutations that enable the il
future attacks. This evolutionary pmce::r\;:;
effectively be speeded up now that it is possible
to examine plant genomes in detail in
laboratories, and create mechanisms through
which the relevant genes can be altered very
preci

P i
44. With reference to the above passage, the
following assumptions have been made :

1. Genome editing does not require
the transfer of genes from one p

to another.f
2. Through enome editi

chosen genes can be
precisely in a manner akin to

Which of the above as
valid? <
{a) 1 only

the connection

d
underptor t and health in

age whic

HGY-D-LKUV/59C

27

not wcll-undcrstood, 'that 1:;
when unscientific golid was
nes with poor drainage€ an
d sewage into drains W}’flCh
torm water during rains-
which are full of

aspect that is
what happens
management combi
dumping of untreate
are meant to carry 8
The result is choked drains
stagnant water breeding mosql.!itoea, re
in the spread of water-borne dgaﬂca

45. In the context of India, whic e he
following statements est 1€
critical message e pas

i i orks
In India, the age

o sew‘dweragc and

(b)

au ity to eal with the problems
ement.

ste management should be
tegrated with the maintenance of
rainage and sewerage networks.

and sewerage systems
_municipah’ties is the reason for
" drinking water shortages in our

cities. >,
¢ Passage—5
In Part 1l of the Constitution, which assures

people certain fundamental rights, Article 25

proclaims persons are equally entitled
to freedom of conscience and the right freely to
profess, practise and propagate religion”. What
o notice is that this proclamation *
is mc words “subject to public
order, morality, health and to the other
» which set eonditions

provisions of thi

prcced‘qn_t:j)r the legal protection of religious
practices of an unity. Thifelosing
ofﬁﬂwm Artigle 25 virtually
constituté a subordiflation clause placing ot

\
[P.T.0.
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fundamental rightg Meriss
and above the right ¢,

other fun “Cligions freeq
those damentyy o oM. Among

equality before lay, . . "8hts is gy,

€qua] € right ¢ _
er articles to meay and el ™

y 1nt N T
s not deny equa] P ST alig

: that the g
Totect; ate
person Or group Ofﬁp‘efi'sbhsor;npf la“? to any

the above Passage?

M Religious freedom  wnger

. Constitution
intervention. ,

s the
IS open to State

(c) Religious freedom of the citizens
is not covered under funds

rights. ?"
(d) Religious  practices
community are immu

laws. }d

47. How many different 5-
"~ or without meas

(with
constructed

e‘ bottle contains 20 litres of liquid A.__

4 litres of liquid A1s taken out of it. and
replaced by same quantity of lliquld B.
Again 4 litres of the Wf;
out and replaced by same quantity Of
Tiquid B. What is the ratio of quanti

liquid A to that of liquid B in th
mixture?

@ 4:1
(b) 5:1
(c)

1.4-

(b) 91

, —qo
_ . Dmefow 4
\//(./162 2 éo

(d 49

As a résult of 25% hike in the price of rice
per kg, a person is ablE ¥

+d ‘DELHY less rice for ¥ 1,200. What was the
using all the 1 tart with'D original price of rice per kg?
so that each B (28
2 T (b) ©40 v AL
ey ‘; © €50
(c) 24 ﬂ. @ 60
6 i .
UAXeg— 16 b ¥
29 -~ A
HGY-D-LKUV/59C i ) &
2440 — 9320
=2




(tions % the following 6 (six) items :

p
jlowing five passages and answer

fo

ead the

S')C ;temS that follow. Your answers to these
should pe based on the passages only.

temS

Passage—1

.os in the late 16th century first

W
= Wﬂ from South America to
e whereby 11 the early 19th century, it
kup to cereal crops,
1

ﬁ:d pecome 2 reliable bac
. 3 the cold, rain-soaked soils of
olly

parﬂculaf -
The Insh ‘were soon a
-t : : I

PWW e Lumper’ ~ whose
genetic frallty wou
S‘Ph 0, 1
preading across

fungus -
gf_me"deadly fungus began s

the country> Jestroying nearly all the Lumpers
M The resulting famine killed oT

path-

the following staten

51. Which one€ of ;
f the critical message
= lel .

Mothers should
to preastfeed their children
jmmediately after birth.
The suppPly of safe drinking water
and proper sanitation facilities to all

should be ensured.
Authorities should ensure the
vaccination as prescribcd.

Select the correct answer using the code

given below.

&

and 4

(a,/wra/
(M

(6] Aoty

\/ld)"s and 5 only

&

S

HGY-D-LKUV/59C




Passage—3

The pulse variety Pusa Arhar 16’
otential to be Zrowns?n At?ar 16’ has the
regions of Punjab, Haryana a:d P‘?gily-growing
and eventually in all of India. It o e
Bo00 Lig/hectare) will be & X Ts yield (about
R o those of the: cxietihg vanig;:i ;:antgr greater
its size will be uniform, it will be :;e:::;?use
mechanu?_al harvesting, an attractive fcatur: f::'
farmers in northern India who currently use
this technology for paddy. Most important
Arhar straw, unlike paddy straw, is green anc;
can be ploughed back into the soil. In paddy
straw, the problem is the high silica content,
which does noWn.
the case of Arhar, th er, even after
mrw& just needs to run a
rotovator “to cut the leftover straw into _pieces,
wﬁ—can be . ploughed back . and . will
decompose very fast.
|effover_paddy stalks that cannot be easi
salvgggd or ploughed back. Farmers, therélo
choose the easiest option of simply burniiig

3. Which of the following are
rational inferences that ¢
from the passage?
1. Farmers’ income

ation

All this. is difficult. with.

. ode
Select the correct answer using the ¢

given below.

(@) 2 nd 5
(b) 1 d5
(c) only
l)df’ 1 and 4 only
Passage—4

In India, authoritics always
maximum amount of watel
the monsoon season, whic

irrigation and gencratioh of

the summer montk ”‘ an
- v .

accepted P
reservoir sho 1 | i
before theonset! ' praws is 80
that when pnonsootirain me, 3
to store. the €x A d ak tha
W, an)b E -

fér ca

Futhorities store the maXximi_—
er i ‘- ~oirs even before

Hlonsgon, only to ensure greater
eration and irrigation.

4. With reference to the +#bove passage, the

foﬂpwingigs,umpﬁnns have been made :
1. High risks involved in holding ~

- maximum water in reservoirs are
due to our over-dependence on
hydropowef projects.

2. Storage capacity of dams should

" not be fully used before or during
monsoon season. -

3. Role of dams in flood control is
underestimated in India. S(‘

Which of the gbovi a_ssum'ﬁtions is/are
valid? oy

(@) 1 anggronly

: \./(b)/ 2 only..o~

e

rdyzm/d 3

ne




Passage—5

Economic liberalization in India was shaped

largely by the economic problems of the

government than by the economic priorities

of the people or by the long-term development

objectives. Thus, there were limitations in
""_'—-_4—
conception and design which have been

‘s;bsequently validated by experience. Jobless

growth, persistent poverty and rising inequality

have mounted as problems since economic

liberalization began. And all these years later,

four quiet crises confront the economy;
sl adaen £ A

—

agriculture, infrastructure, industrialization

and education as constraints on the country’s

future prospects. These problems must be

resolved if economic growth has to be sustained
and transformed into meaningful developme '

55. Which of the following is/are
rational and logical
inferences that can be

ethink and
role of the
development.

not made effective

HGY-D-LKUV/59C

36

I
3
5
;
4
ode ;
wer using € ¢ E
rrBCt ans f
Select the cO |
given below. E
(i “only |
(b) 2 only * |
(¢) Both 1 and 2
(d) Neither 1 nor 2 ‘
& passage, the
; e been made :
needs to be greatly

create large number of jobs
to sustain its growth

mentum. >0

Economic liberalization would
cause large economic growth which
e would—reduce poverty and create
i sufficient employment in the long

r_un.
Which of the above assumptions is/are
s
valid? :

(@ 1 only
(b) 2 only
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P?ﬂ. A

in t9°
diss op owner offers the following §9. What is the missing term @
count options on an article to a following?
customer : >
Ay al:
L. ACPQ : BESU : MN

Successive discounts of 10% and
20%, and then pay a service tax

of 10% % 6&

fa) NPJL
2. Successive discounts of 20% and 3 2
10%, and then pay a service tax
of 10% (b) NOM

CE
L

3. Pay a service tax of 10% first, then
successive discounts of 20% and
10%

fc) NPIL

Which one of the following is correct?

(@ 1 only is the best option for the
customer.

{c) 3 only is the best optio
customer.

(d) All the options are ¢
the customer.

o .. Lo
Cord) D5 " %)
1 i el R
B o
Bty e 636
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Qv b/

pei‘son X can co
mplete 209
0% of work paire of l',cliﬂ'crc

65. How many
at the

in 8 da
ccom—pletgsz?zd another person Y can there suc
% of the same work in squares 19 4
i b,
@ 3 v

6

m?fys. T they work together, in how
y days will 40% of the work be

completed? [ ¢

(a) © (b) 8
(c) 10 (d) 12
car travels from a place X to place Y at

km/hr
X at an average speed of 2y km/hr,

. from X to Y atan average speed of
i Y to X at an

average speed of 4y km/hr.
e car for the entire

journey
(a) is less than
(b) lies between v an

\}}/@é petween 2v ant

v km/hr
d 2v km/hr




?f 3.5, ;

T1. What ;
tis th )1
31 © Breatest le
2 M and 83 ngth x such that

\4111&“:’.
of x? ln tegral multipleg

(@ 11m _3__,/\.5
2.
) 11 m h
5
@ m S _
11

S
S 1

4 e

)
3
J

72. Consider the following data :
Year Birthrate
,/:x

1911-1921 48-D

—
1921-1931 464
1031-1941 | 452 |
1941-1951 '
1951-1961
1961-1971

41

S

1
7.

——wey
LA AYAYER AV A NELERLE A
- .t 440NN

= ?)otg.ﬂ/\,

73.
T:‘e recurring decimal rcprcucntation
'272727... is equivalent 10

fa) 13/11
(b) 14/11

(c) 127/99

(d) 137/99

(d) 1222
40% men

75. In adult population of a city,
and 30% women are t
of married adult
_____—.—"-’——-_—_-_—

is the percentage

' more than one man,
ows an widowers?

@ 331% U0~
|

(b) 34%

() 342%

(d) 35%



gl
X7
76. What i
G a is the remai 9'?.
ainder
51x27 x 35x 62 x 75is divided b, o’ .
¥ d T If one student fr

(@) 50

(b) 25

(c) S
d 1

ted among

77. A sum of ¥ 2,500 js distribu
X,Yandz in the ratio%:%:%.What is
between the maximum
?

the difference
share and the minimum share

(a) & 300

=

() €39

() €400




